

			Vendor	Ranking			Page 1 of 1
Letting:	05230502	May 02, 2023 2:00 PM	Call Order	: 008	Contract:	E55C8	
District:	District 5		Counties:	OSCEOLA	Fed Aid No	: N/A	
Contract Time:	120 CALEN	DAR DAYS			Project(s):	42795717248 (*)
Contract Desc:	Highway Lig	hting Repair					

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	UNITED SIGNS & SIGNALS, INC.	Responsive	Winning bid	\$913,178.01	100.00%
2	HIGHWAY SAFETY DEVICES, INC.	Responsive	Non-Winning Bid	\$930,576.00	101.91%
3	CHINCHOR ELECTRIC INC.	Responsive	Non-Winning Bid	\$1,248,123.20	136.68%
	TRAFFIC CONTROL DEVICES, LLC	Non Responsive	Irregular bid		
	AMERICAN LIGHTING AND SIGNALIZATION, LLC.	Non Responsive	Irregular bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Page 1 of 4

Letting:	05230502	May 02, 2023	Call Order:	008	Contract:	E55C8
District:	District 5		Counties:	OSCEOLA	Fed Aid No	b: N/A

Contract Time: 120 CALENDAR DAYS

Contract Descr: Highway Lighting Repair

FDOT District 5 Proposal ID No.: E55C8 Financial Project No.: 427957-1-72-48 Fiscal Year: 2023 County: Osceola Contract Calendar Days: 120 Lead Time: 14 Days

OSCEULA Project(s): 42795717248 (*)

Intent:

The work under this Contract consists of highway lighting repair at the SR 530/ World Drive Interchange which includes the installation of all new wiring in existing conduits; make connections to existing light poles, sign structures and load centers; and install Department provided light pole access covers.

Experience:

For this Contract, the Contractor is required to have at least three (3) years of experience in the performance of Highway Lighting work, consisting of installation, maintenance, diagnostic and repair and/or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalified with the Department in both "Underground Utilities (Electric) and Traffic Signal" will suffice to meet the above requirements.

Line No / Item ID Alternate Item Description	Quantity Units	(1) UNITED SIGN INC	· · ·	(2) HIGHWA DEVICE		(3) CHINCHOR	ELECTRIC INC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (HI	GHWAY LIG	HTING MAINTEN	ANCE (MH				
0005 0101 1 MOBILIZATION	(1.000) LS	121,945.00000	121,945.00	93,055.00000	93,055.00	150,360.00000	150,360.00
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	32,954.00000	32,954.00	16,200.00000	16,200.00	72,000.00000	72,000.00
0015 0630 2 11 CONDUIT, FURNISH & INSTALL, OPEN TRENCH	500.000 LF	13.20000	6,600.00	56.00000	28,000.00	24.00000	12,000.00



Tabulation of Bids

Page 2 of 4

Letting:	05230502	2 May 02, 2023	Ca	II Order: 008		Contract:	E55C8	
	o / Item ID Alt escription	ernate Quantity Units	(1) UNITED SIGI		(2) HIGHWA DEVICE		(3) CHINCHOR	ELECTRIC INC.
() indica	ates item is bid as Lump	o Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
:	SECTION: 0001	(HIGHWAY LIC	GHTING MAINTEN	ANCE (MH				
CONDUIT	630 2 12 , FURNISH & INSTA NAL BORE	100.000 LL, LF	125.29000	12,529.00	57.50000	5,750.00	43.20000	4,320.00
	635 2 11 PLICE BOX, F&I, 13" IZE	4.000 x 24" EA	1,565.25000	6,261.00	2,800.00000	11,200.00	2,040.00000	8,160.00
LIGHTING	715 1 11 CONDUCTORS, F8 D, NO. 10 OR <	900.000 kl, LF	3.10000	2,790.00	4.70000	4,230.00	2.67000	2,403.00
LIGHTING	715 1 12 CONDUCTORS, F8 D, NO.8 - 6	34,565.000 al, LF	3.21400	111,091.91	3.00000	103,695.00	3.32000	114,755.80
LIGHTING	715 1 13 CONDUCTORS, F8 ED, NO 4 TO NO 2	122,340.000 al, LF	3.49000	426,966.60	3.90000	477,126.00	4.73000	578,668.20
	715 7 11 NTER, F&I, SECONE	1.000 DARY EA	23,816.00000	23,816.00	25,200.00000	25,200.00	16,561.20000	16,561.20
	715 7 41 NTER, REMOVE, SE	1.000 CONDARY EA	2,448.00000	2,448.00	1,870.00000	1,870.00	1,536.00000	1,536.00
	715 10 3 LE FOUNDATION, F	15.000 REPAIR EA	2,106.33000	31,594.95	765.00000	11,475.00	6,360.00000	95,400.00
	715 19 3 - REPLACE EXISTI OR	125.000 NG SURGE EA	276.63000	34,578.75	205.00000	25,625.00	313.98000	39,247.50



Tabulation of Bids

Page 3 of 4

Letting:	05230502	May 02, 2023	Cal	I Order: 008		Contract:	E55C8	
Line No / I Item Desc		te Quantity Units	(1) UNITED SIGN		(2) HIGHWA DEVICE		(3) CHINCHOR	ELECTRIC INC.
() indicates	item is bid as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(HIGHWAY LIG		ANCE (MH				
0065 E715 FUSE (F&I) (P	24 1 OLE BASE)	200.000 EA	53.60000	10,720.00	63.50000	12,700.00	104.35000	20,870.00
	24 4 G (F&I) (POLE BASE)	200.000 EA	59.83000	11,966.00	63.50000	12,700.00	110.77000	22,154.00
	25 1 R (F&I) (POLE BASE	200.000) EA	94.70900	18,941.80	270.00000	54,000.00	236.94000	47,388.00
	25 2 R / DISCONNECT PL	200.000 LUG EA	272.93000	54,586.00	200.00000	40,000.00	275.46000	55,092.00
		5.000 TEM, EA	677.80000	3,389.00	1,550.00000	7,750.00	1,441.50000	7,207.50
0001 H	GHWAY LIGHTING AINTENANCE (MH)	Section Totals:	I	\$913,178.01		\$930,576.00		\$1,248,123.20
	Contract (Grand Totals:		\$913,178.01		\$930,576.00		1,248,123.20



Page 4 of 4

Letting:	05230502	May 02, 2023	Call Order: 008	Contract:	E55C8
			re to file a protest within the time pres		

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.